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Unit 1 That must be a record!

BTEIR: 1. THAYRALLARTAF D FLRFEAE,
2. TR AANAZH o T3t L oA A 40 R RN,

E—85a

I. WFE—E#HE, EHBEER, (ZEMEHERIE)

( ) 1. What is the Guinness Book of World Records?
A. It is a book about an interesting story.
B. It is a world famous collection of world records in human life,
C. It is a book of adventure stories,

( ) 2, What led to Sir Beaver's idea of publishing The Guinness Book of World Re-

cords?

A, His hard work. B. His curiosity, C. His careful research,
( ) 3. When was The Guinness Book of World Records first published?

A, In 1951, B. In 1954. C. In 1955,

( ) 4. What is true about The Guinness Book of World Records?
A. Tt was well received by readers all around the world.
B. It was only well accepted by the readers in Britain.,
C. Tt was not a great success in Britain.

I. WFE—&HE, RAFGRYEETE, (REHBHERNE)

In 1996, doctors said American cyclist Lance Armstrong had only a 40 percent
chance of living. He’s done more than stay 1 . Hebeat 2 and went to the top of
one of the world's hardest sports. Armstrong is _3 for being fast on a bike. The 32-
year-old won the Tour de France for the fifth time in a row last year,

The Tour de France is the longest and most famous bike _ 4 in the world. It
_ 5 more than 3000 kilometres and takes more than 20 days. Riders from many coun-
tries take part each summer, but many never finish because of the hot weather and long,
hard roads.

But Armstrong won. In fact, many people think he will win again this summer.
He first did it in 1999 after coming back from 6 , and he hasn’t stopped winning

1




since then. Armstrong isn't getting any younger, but age hasn’t slowed him down. “I
have more grey hair, and I think I get out of bed slower than five years ago, but I feel
fine, strong and ready to go.”

If Armstrong wins this year’s Tour, he will break a7 . And he's not thinking
about 8 , “The only thing I know is I feel as strong as ever, and there still are a lot
of beautiful races to be won, ”

1. 2. 3. 4,

5. 6. 7. 8.

B8 G, W 304D

W (HS5MNNE; §/ANE LSS, BHT7.55)
Wr R E 5 BiE. BEERA —/ME, WEHRIBE A . B, C =PI
B BAEET, HFEREMENAIE. WRSRXEE, REF 10 BohatakE%
AHR/NERFEGET —/V8., SBHE{E—H.
( ) 1. What is implied in the conversation?
A. The children enjoyed themselves.
B. The children didn’t come to the party.
C. The children wers having a lot of fun in the party.
( ) 2. What did the woman say about Mary?
A. Mary would not call the woman again.
B. Mary would call next time she came to town.
C. Mary hoped to come for dinner next time she came to town.
( ) 3. How’s the school?
A. It’s better than people say. B. It's even worse than people say.
C. It’s not as good as it was.
( ) 4. What's the woman'’s suggestion?
A. To ask Jack to finish the lab test. B. To ask Jack for help,
C. To ask the man for help.
( ) 5. What's the correct time now?
A. It's 9.28. B. It's 9.35, C. It's 9:42.
oW (FH 15 /G, NELS S, WD 22.54)

T S BextiE. BEMIERAIL/ME, WEFREM A, B, C=A%Et
BRI, IR RS WA E . e BXTER, AR RS NE, B
/NS Bheh; WESERE, B/NEHEAH 5 B RHE, BEIRHEERR.

Wi 6 Bbbet, FEESE 6 X 8 M.
( ) 6. How was the woman's holiday on the beach?

A. Wonderful. B. Just so-so. C. Very tiring,



) 7.

) &

What did the woman do during her holiday?

A, She slept in the open air, B. She made campfires on the beach.
C. She sunbathed and learned to swim.

What do we know about the woman?

A, She didn't pay for the training,

B. She has become a great swimmer,

C. She can’t swim even after the training,

WS 7 BpbR, [IESE O E 11,

> 9.

) 10,

) 11,

How much does the company pay the man for the first year?
A. $15,000. B. $10,500. C. $12,500.
Who is Mr Thomas most probably?
A. The woman’s husband. B. The man’s teacher,
C. The director of that department,
What do you know about Mr. Rothenburger?
A. He has no experience in the job he is asking for,
B. He is not very good at his lessons at college,

C. He is sure to get a raise in two years.

e 8 BrAtkl, [EI%SE 12 F 14 @,

) 12,

) 13.

) 14,

How many languages can the man speak?

A. One. B. Two. C. Three.
What does the woman wish?

A. She wishes she could speak French.

B. She wishes she could speak Japanese,

C. She wishes there were just one language in the world.
What's the man’s joh?

A. A doctor. B. A traveling businessman., C. A journalist.

WrsE 9 BrbrRl, [IESE 15 = 17 .

) 15,

) 1T,

What did the boy mean by asking Mary “How did you do that”?
A. Tt meant how Mary went on the holiday.
B. It meant why Mary went to Denver.

C. It meant how Mary was able to miss so much school.

. What can we infer about Washington’s Birthday from the dialogue?

A, Maybe there was a national holiday near that day.

B. It was fine that day and nobody wanted to stay in,

C. All the students were on their winter holiday that day.
What did Mary do on Washington's Birthday?

A. She stayed at home,




B. She went to the mountain by car,
C. She went to the mountain by train for a holiday.
WS 10 Brirkt, [EIASE 18 % 20 &
( ) 18. What do the two people mainly talk about?
A. Whether small children should go to a nursery school,
B. How a nursery school should be managed.
C. When reading should be introduced to nursery education,
( ) 19. What are the two main points under discussion?
A. Socialization and honesty.
B. Schooling and socialization,
C. Creativity and curiosity,
( ) 20. Why does Talson's daughter like to go to nursery school according to Gary?
A. She likes playing with her teachers.
B. She likes her school,
C. She likes playing with other kids of her age.

* fER B PRI, N PEE
Self Assessment ( HBIEM)

Excellent | Very good Good Adequate | Needs More Improvement
e (R#D §::)) (—f (R L)




Unit 2 Crossing limits

BTEER: 1. HATEAFHMEHAREAZRAFTHNE R ETXFEME,
2. eI R, WS MR R T,

E—8a

I. WFEA—BME, EHRERER, (XEMEHERR)
( ) 1. How old was he when Cook joined the England’s Royal Navy?

A, 18, B. 22 C. 28.
( ) 2. When did Cook discover the Hawaiian Islands?
A, 1779, B. 1776. C. 1778.

( ) 3. Why did Captain Cook search the South Pacific from 1772 to 17757
A. Because he wanted to prove that a continent did not exist.
B. Because he wanted to look for a shorter way to Asia.
C. Because he wanted to find the passage from the west to the Pacific.
( ) 4. What is the passage mainly about?
A. The British sea expedition. B. A famous American Captain,
C. James Cook.
. WTFE—BHE, HHER, (FEFETER)
) 1. Some sailors were the men who had killed people or stolen things.
) 2. The Endeavor had 59 seamen aged between 14 and 49 years of age.

(
(
( ) 3. Many young sailors were boys whose parents had died.
( ) 4. There were very few toilets on the ship,

(

) 5. The sailors were paid a pound a week,

SRS GEEY, W4 304D

E—F (#HoMME; §NE LS, BRT.59)

Wr S BEXIE . BERA—/ME, NEPIAK A, B, C=1EmS
BRI, FRERERANAE. WRESBXER, REA 10 Bt 5k b 2%
AXR/PMERMEET —/ME, BEXNEE—R.,

( ) 1. Where is this conversation taking place?
A. On the plane, B. On the bus, C. On a train,
( ) 2. What will the man probably do?

A. Pay more attention to the music.




) 3.

) 4.

B. Play the music more quietly.

C. Stop talking so much.

What does the man mean?

A. Her uncle is easy to recognize.

B. Her uncle stands before the others.

C. Her uncle can’t stand up for very long.
What did the woman say about Robbie?
A. He wanted Cathy to come, but she couldn’t.
B. He invited Cathy to the party.

C. He didn’t invite Cathy to the party.
What did the man say about his camera?
A. He lost it at the airport.

B. He left it in his friend’s car.

C. He enjoyed using it.

W (#15 /8, §E 1.5, #922.59)

Wr R 5 B . BERMERAIJLINMNE, WEHERAK A B, C=/1%0d
wHBAERT, FRERSHHRAIR . IWEBE, REARERIESN/ME, 8/
s Beh; rRfE, S/MEKAH S B EEatE . BRI TEIEFM .

VTS 6 Brkikl, [EIZ5E 6 2 8.

(

(

) 6.

) 7.

) 8.

How soon will the taxi get to the museum?

A. Within five minutes, B. Within twenty minutes,
C. In half an hour,

How much will the woman pay the taxi driver?

A. Only 18 dollars, B. Less than 18 dollars,

C. More than 18 dollars,

What can we learn from the conversation?

A. The traffic is too heavy.

B. The museum will close at about 6. 00,

C. The woman won't tip the man,

WrdE 7 BbOR, &S 9 E 118,

) 9.

What do we know about the woman?
A. She feels nervous. B. She doesn’t work hard.

C. She has never taken any test.

) 10, What can help remove test tension?

) 11,

A. Good luck. B. Deep breath, C. Kind advice.
What is the man’'s opinion?

A. Wait for the test. B. Often take tests. C. Always work hard.



(

(

WrsE 8 BUAPRE, WIS 12 F 145,

) 12,

) 13,

) 14,

What are they talking about?

A. Italian lifestyle. B, Holiday plans. C. Living in a foreign country.
Which of the following is the man most likely to do in Italy?

A. Attending an art school. B. Lying on the beach.

C. Visiting art galleries.

What will the woman probably do during her vocation?

A. Have a relaxing time.

B. Visit as many places as possible.

C. Do more study.

WrsE o BipAst, B 15 E 17/,

) 165,

) 16.

) 17

Why is the patient seeing the doctor?
A. Because his wife told him to.

B. Because he feels tired and weak.
C. Because he is having a bad cold.
When did the man return to work the last time he was ill?
A. When he felt better,

B. When he felt well again,

C. When he had to.

What can we learn about the doctor?
A. She isn’t fit for her job.

B. She did nothing about the patient.

C. She will give the man further examination,

OFEE 10 BEpil, A4 18 & 20 8,

) 18.

) 20.

What are the speakers talking about?

A, What New York City is like,

B. What the weather in New York City is like,
C. What the people in New York City are like,

. What does the man think of the winter in New York City?

A. Tt’s perhaps the coldest place in the world.

B. There's lots of sunshine though sometimes it’s very cold.

C. It’s warm but rains a lot.

What makes people feel most unbearable while living in New York City?
A. Tt’s extremely hot in summer,

B. The weather changes quickly and frequently,

C. People there are cold and selfish.




Unit 3 The land down under

BEEE: | AT RAFRLS$ 5T B FRRAE,

2. A XMRA L, B, LALL I BFERG KL RS,

E—ABSr
I. WTE—BME, EHBESER (ZRMEHERHE).

¢ )1

) 2.

What is true about Sydney?

A. Sydney is the capital of Australia.

B. Sydney is the biggest city in Australia.

C. Sydney is the biggest harbor in the world.

What did Captain Arthur Phillips take with when he arrived in Sydney in 17887

A. Some ships and more than one thousand passengers.

B. Eleven ships and about seven hundred prisoners.

C. One thousand and twenty four passengers besides seven hundred prisoners.

What makes Sydney famous?

A. Beautiful shops, the beautiful harbor and large ships.

B. The Sydney Opera House, modern restaurants and many overseas,

C. The beautiful harbor, the Sydney harbor Bridge and the Sydney Opera
House.

Which is true among the following opinions?

A. Sydney is neither British nor American but truly Australian.

B. Sydney is copying both the Old World and the New World.

C. Sydney is very British.

. WFE—BEHE, KRERATINAR, ANELNES. (FRMEEHE)

First people arrived in Australia (date)

Past Kooris population

Percentage of past population of Australia

Percentage of present population of Australia

Causes of death

Past number of Kooris language

Kooris made citizens of Australia (date)

8
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R S B iE. BEMEER—/ME, WNBHFGAH A, B, C = ®m+
BHREEMN, HRERSNHENAUER. WESBMIER, REA 10 Brahad 6k FZ
FXNEARE T —/ME, GBXHEE—HR.

( ) 1. What is the man probably doing?

A. Reading for magazine. B. Writing an article,

C. Studying for a chemistry test,
() 2. Whose recorder is the worst?

A. The man’s brother’s, B. The man’s,

C. The woman’s.
( ) 3. What does the woman going to have for her dessert?

A. An ice-cream. B. Chocolate cakes. C. Nothing.
( ) 4. What does the woman imply?

A. He can certainly rely on his uncle,

B. His uncle won’t help him at all.

C. He can ask her for help.
( ) 5. How much would a new car cost?

A, $900. B. $1100. C. $700.
B (15N, |NE 1.5 5, #SD22.55)

U R 5 BXiE. BERIERAILN/ME, NERRAMA . B, C=/H%TH
W BRI, RSN . WeBNER, REAERESNME, &
/NS BBl WTRRE, S/NMENS Y 5 PehEE e R . BEIEENGR .

WrsE 6 BeAi R, IS 6 2 8 A,

( ) 6. What are the speakers talking about?

A, Mr Hastings. B. Mrs Brown, C. The funny stories.
( ) 7. Why didn’t the woman think much of Mr Hastings?

A. Because he never told funny stories,

B. Because she could take no notes in his class.

C. Both A and B.
( ) 8 What is the relationship between the two speakers?

A. Wife and husband.  B. Teacher and student. C. Classmates,

WS T B, EEBIE LM,

( ) 9. What were Maria and Victor talking about?
A. Their English study. B. A written exam, C. An oral exam,
( ) 10. How did Maria find the exam?




(

(

A. Not too hard, B. Rather easy. C. Quite difficult.

) 11. Why did Victor ask Maria so many questions?

A. He wanted to know if Maria had passed.
B. He wanted to be well-prepared.

C. He was interested in how Maria answered the teacher’s questions.

UrifE 8 Brbi R, EIZE 12 F 14 4,

) 12. Who is the man?

A. A policeman. B. A postman, C. A taxi-driver.

) 13. What is the probable relationship between the two speakers?

A. Boss and employee. B. Husband and wife.  C. Friends.

) 14. What are the speakers mainly talking about?

A. Changing a job. B. Visiting New York. C. Moving to Florida.

WrEE 9 BExtiE, B 15 F 17 4.,

) 15. Why is the woman so upset?

A. She can't finish her homework.
B. She feels sorrv about Kitty,

C. The computer she borrowed broke down,

) 16. What does the man say about the computer?

A. He asks the woman not to tell the truth,
B. He will fix it for her.

C. He sends it to a repair shop.

) 17. How do we know about the woman?

A, She is proud of her honesty.
B. She is upset about her lying.
C. She is honest to her friend.

WS 10 Bobbkl, M5 18 & 20 &,

) 18. What happened to the man?

A. He was out of work. B. He had turned his back.
C. Both A and B.

) 19. What do you think Snowton is?

A. The name of the man’s uncle.

B. The name of an island. C. The name of an mountain.

) 20. What can we learn from the dialogue?

10

A. The woman didn’t like chicken,
B. The woman grew up in this city.

C. The man didn't like Snowton.



Unit 4 Green world

BEENR: 1. FHEAYEAFRE L RS A FIRMAE,
2. ERBE X AR SHpF L EMY TEHHE,

s
I. WFE—RHE, HAHER (ARMBERE).

( ) 1. If you live in northern Europe, you’ll have a garden with all kinds of birds, ani-
mals and insects, ’

( ) 2. The swallows will travel 8, 000 kilometers or more to southern Africa in
spring.

¢ ) 3. It is not necessary for some animals to hibernate where winters are not very
long or very cold.

( ) 4. The far north of Russia is a very cold part of the world.

( ) 5. Animals in a large pert of the northern hemisphere fall asleep fast.

I. WrE—BR&E, RAFRORIR, (ZBREHERR)

We all know that science plays an important _1 _in the societies in which we live,
Many people believe, however, that our progress 2 on two different aspects of sci-
ence. The first of these is the _3 of the machines, products and _4 of applied
knowledge that scientists and technologists develop. The second aspect is the applica-
tion by all members of society, from the government official to the 5 citizen, of the
special methods of thought and action that scientists use in their work, What are these
special methods of thinking and acting? First of all, it seems that a successful scientist is
full of _ 6 —he wants to find out how and why the universe works, He usually 7
his attention towards problems which he notices have no 8 explanation, and his curi-
osity makes him lock for underlying 9 even if the data available seem to be uncon-
nected. Moreover, he thinks he can improve the existing 10 , whether of pure or
applied knowledge, and enjoys trying to solve the problems which this involves.

1. 2. 3. 4. 5.

6. 7. 8. 9. 10.

ETES GEEY, WA 304

F—H (H5NE; BNELS S, BR7.55)
Wr T 5 BExtis. BBOWIEEHE —/ME, WERFAM A, B, C =AM
' 11




BRI, IR N E . WRERMIEE, REA 10 Fh5pad a5 &2
AHE/MNEMBEGET —/ME., SR ENE—K.
{ ) 1. What does the woman suggest?
A. Tt can't be sent easily.
B. She is not sure about the package.
C. There are several different rates,
( ) 2. What is the time now?
A, 8:10 B. 8.30 C. 8.50
( ) 3. What does the woman imply about Henry?
A. He’s probably still sleeping.
B. He spends a lot of time in the lab.
C. She has no idea where he is,
( ) 4. What is the man’s attitude to the radio announcer?
A. He believes what the announcer says.
B. He thinks that the announcer is very good at her work.
C. He does not have a good opinion of the announcer.
( > 5. How is the man today?
A. He's better. B. He’s sick in bed. C. He's complaining.
S (315 NVE, WNE 54, WA 22.54) '

WrFHE S5 BXiE. BERMERAILA/DE, WERREHMA . B, CE/MEIH
HHBERT, RO E. WEBER, REAREBRZEENMNE, 8
/NGRS BBl WTSESS, E/NVENEEAH S BeMES R R . SBXHEEFR .

e 6 Bk, [MESE 6 2 8,

( ) 6. Where did the conversation probably take place?
A. In a department store, B. In a furniture store.
C. In a factory.

( ) 7. What would the new sofas cost each?

A. $59. B. $83. C. $65.
( > 8. When would the woman probably come again?
A. Next Thursday, B. Next Friday. C. In two weeks,

WrEE 7 BUAbRL, IS 9 F 118,
( ) 9. What do the two sons do?
A. They are both workers. B. They are both students.
C. One is a professor, and the other is a student.
( ) 10. What does the younger son like?
A. He is crazy. B. He likes to make money.
C. He prefers playing tennis.
12 '



